Bl 1

NSRS 30 R i [ B 3 [RIAF 28 I ARk 22 A it 55 1 ek 4 5=
1. BHEERIHIEARME G « 8 - = - JLSEICBEE) (BAL - 1)
AT HIH
P2 B EBR=E = Y 7 150, 000 15, 000
P3EBRETY T (7 ) —W—=DLOF|HITk544) 150, 000 15, 000
P3 IR Y 7 150, 000 15, 000
7 TIA A EFHEMBETY T 150, 000 15, 000
NAF 7Y —2b—2Ah1 150, 000 15, 000
NAF I V= )—202 150, 000 15, 000
A1 5 I By el 7 = ‘ 0 0
BLAHRESER X OB G R = 0 0
2. =V RS X
‘ (EAT 2 )
= 4 5 W M Wil (75— 74 JV—4—/R) I =
NAF T T = )— | FTA 30 _
22 (114) ~ A 120 R v 7 EHO%E
<A 60
P2 By KBRE 1| 7y MY 90 .
(115) S 90 r— (M)
v X4 Y 300
P2 B EBr=E 2| TVA S0
(116) Z > RtV 120
(74 L—&—)
~ 1A 80
7 > MY 120 )
F5%A 230 =37 (71N
P2 By W) KB E 3| B 300 r—3(R)
(117) oY il Y 300 B
A X 450 1EEY 720
7 X 450 1857-1
L 450 18A%4 720
PPEmERE 1|UX 150
(118) 7> MY 230
TAYL—%—)
e 230
7 N
P WM E B E 2| B 300 e (1)
o e 130 T
Tavr=r= T 450 14720
?ﬁ%m 450 1884720
7 150
P3 @ W) EBR=E 3| B 450 B
& T
V== S CEE N
A= 5 600 1 547 0
s filfh . %%ﬁiﬁ%@{%ﬁ%m HoAfLT 5,
DNDABE— FNLEY ’NE VTl v ME
(BAZ - )
ES % ) ¥ HAAh I =
P3 Eh R =
(118, 119) - i 5 200 fEiAE U @ #9-#10)
P3 EBER 300 TEIRZR (B R AT #14)
(107, 108, 109, 110)
B Fi R B T = 150 TElig (/) : #1-4#8)
(612) i e # 300 fEIRSY OK @ #11-#13)
300 VIR 22 (I i SR - #15)
% R FEESOEENT, BCBAHEET S, 2024 7F 12 ABE




